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ZHENME [T —EvrhAtEyrInTOEFRIES K BCC 24 hh{24hh FO2 [ 2 3 0/@®|®| ®| ®PCoperand(1-Byte), Branch Relative |if C=0 then PC+hh—PC
EHNIE [Fv)—EvkDitEyrESh TUOEITF I I8 BCC 1024 hhhh{1024hhhh | FO9 [ 4 [5(6) | @ | @ | ® | @ | @ |PC operand(2-Byte), Branch Relative |if (=0 then PC+hhhh—PC
ZHENE [T —EvrAtEvranTORIES K BCS 25 hh{25hh FO2 [ 2 3 0/@®|®| ®| ® PCoperand(1-Byte), Branch Relative |if C=1 then PC+hh—PC
EHERIE [Fr)—EvrhtyrSh TV Ik BCS 1025 hhhh|1025hhhh [F09 | 4 [5(6) | @ [ @® | ® | ® | @ [PC.operand(2-Byte), Branch Relative |if C=1 then PC+hhhh—PC
ZHESIR | ZELWNVES I IE BEQ 2] hh|27hh F02| 2 30| @®|®| ®| ®|PCoperand(1-Byte), Branch Relative |if Z=1 then PC+hh—PC
FEHpI [FLWVES (XI5 BEQ 1027 hhhh{1027hhhh | FO9 [ 4 [5(6) | @ | @ | ® | @ | @ |PC.operand(2-Byte), Branch Relative |if Z=1 then PC+hhhh—PC
ZHENI KUY EASIED I (FEdET—42E) BGE 20 hh|2Chh F02| 2 30| @®|@®| ®| ® PCoperand(1-Byte), Branch Relative |if N eor V = 0 then PC+hh—PC
FlEDE (KYUELS ED R (FEAET—2LEK) BGE 1020} hhhh{102Chhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if N eor V = 0 then PC+hhhh—PC
Ehnlk [FYRESIERIE  (FEAET—2HLE) BGT 2E] hh|2Ehh F02| 2 30| @®|®| ®| ® |PC.operand(1-Byte), Branch Relative |if Z and (N eor V) = 0 then PC+hh—PC
EhRRk |FYRES IR  (FEAET—ALE) BGT 102E hhhh{102Ehhhh | F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if Z and (N eor V) = 0 then PC+hhhh—PC
ZHENE [KYKRESEDE (FEELT—4LR) BHI 22 hh|22hh FO2{ 2 30| @®|@®| ®| ®|PC.operand(1-Byte), Branch Relative |if C or V = 0 then PG+hh—PC
FHEDE (FYRGSEDIE  (FEELT—RHR) BHI 1022 hhhh{1022hhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative |if C or V = 0 then PG+hhhh—PC
ZHEN (KU EASIEDE (FEELT—2LE) BHS 24 hh|24hh FO2{ 2 30| @®|®| ®| ® |PCoperand(1-Byte), Branch Relative |if C=0 then PC+hh—PC
FHEDE (FYLELGSED IR (FFEELT —RHR) BHS 1024 hhhh{1024hhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative |if C=0 then PC+hhhh—PC
EHhR [FYUTESED I (FSAET—2HE) BLE 2F] hh|2Fhh F02| 2 30| @®|®| ®| ® |PCoperand(1-Byte), Branch Relative |if Z or (N eor V) =1 then PC+hh—PC
FHEDE [FYUTES ED R (FEAET—ALEK) BLE 102F hhhh{102Fhhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if Z or (N eor V) =1 then PC+hhhh—PC
ZHENE [KVINESEDE (BEELT—4HR) BLO 25 hh|25hh F02| 2 3@/ ® | ®)| ® ®|PCoperand(1-Byte), Branch Relative |if C=1 then PC+hh—PC
EHD [FYIDNESIERE  (FEELT—ZE) BLO 1025 hhhh{1025hhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative |if C=1 then PC+hhhh—PC
ZHENE [KYLTAHS D (FE®ELT—2LE) BLS 23 hh|23hh FO2{ 2 3@/ ® | ®)| ® ®|PCoperand(1-Byte), Branch Relative |if C or Z = 1 then PC+hh—PC
EHDIE [FYUTESIER IR (FEELT —2LI&K) BLS 1023 hhhh{1023hhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if C or Z = 1 then PC+hhhh—PC
ZHENE [KYINESIED IR (FEdET—4LE) BLT 2D hh|2Dhh F02| 2 3@/ ® | ®)| ® ®|PCoperand(1-Byte), Branch Relative |if N eor V = 1 then PC+hh—PC
EHQ I [ KYIDNESIERIE  (FEAAET AR BLT 102D hhhh{102Dhhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if N eor V = 1 then PC+hhhh—PC
SR |BEES (F IR BMI 2B hh{2Bhh FO2 [ 2 30| @®|@®| ®| ®|PCoperand(1-Byte), Branch Relative |if N=1 then PC+hh—PC
ZHhRE [BRESER K BMI 102B hhhh{102Bhhhh | FO9 [ 4 [5(6) | @ | @ | @ | @ | @ |PC operand(2-Byte), Branch Relative |if N=1 then PC+hhhh—PC
ZHESIK |[ZELLENEDS TR BNE 26 hh|26hh FO2 [ 2 3 0(@®|®| ®| ® PCoperand(1-Byte), Branch Relative |if Z=0 then PC+hh—PC
Ehnk [FLLELVES [T I BNE 1026 hhhh{1026hhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if Z=0 then PC+hhhh—PC
IR |E RS (F IR BPL 2A hh|2Ahh F02| 2 30| ®|@®| ®| ® |PCoperand(1-Byte), Branch Relative |if N=0 then PC+hh—PC
I (TS (£ Ik BPL 102A hhhh{102Ahhhh |F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative |if N=0 then PC+hhhh—PC
EHE IS [ EEHIZHIE BRA 20 hh|20hh F02| 2 30| ®|®|®| ®|PCoperand(1-Byte), Branch Relative |PC+hh—PC
ZENIE | EEEICHIR BRA 16) hhhh|16hhhh FO3| 3 50| @®|®|®| ®|PCoperand(2-Byte), Branch Relative |PC+hhhh—PC
EHR IR [ I8 LA I8 BRN 21 hh|21hh FO2 ([ 2 31000 0|6 |L Branch Relative [%21=% L %L
EHhR IR [ IE LA I8k BRN 1021 hhhh{1021hhhh | F09 | 4 5000 0@ |4l Branch Relative |#Z[= 3 L ALY
ZHDIE [T IL—F APk BSR 8D hh{8Dhh FO2 [ 2 710(@®|®| ®| ®[SPCoperand(1-Byte), Branch Relative |S-1—S, PCL—M[S], S-1—S§, PCH—M[S], PC+hh—PC
ZHEDIK [T IL—Fo AN BSR 17 hhhh{17hhhh FO3 | 3 90| 0| ®| ®| ® SPC,operand(2-Byte), Branch Relative |S—-1—S, PCL—M[S], S-1—S§, PCH—M[S], PC+hhhh—PC
ZHEDIK |[A—N—oO—EvrptyrShTOWETFRIESIE |BVC 28 hh{28hh FO2 [ 2 30| @®|®| ®| ® |PCoperand(1-Byte), Branch Relative |if V=0 then PC+hh—PC
EHR IR [A——TO0—EvrhtyvrShTLVETFNIERIKE [BVC 1028 hhhh{1028hhhh | F09 | 4 |5(6) (@ | ® | ® | @ | @ [PC.operand(2-Byte), Branch Relative [if V=0 then PC+hhhh—PC
ZHENE |[A—/ " —JO—Evkhtvkah TORIES % BVS 29 hh{29hh FO2( 2 30| @®|®| ®| ®|PCoperand(1-Byte), Branch Relative |if V=1 then PC+hh—PC
EHRIK |[A—/\—TO0—EvrhtyrESh TN IES I8 BVS 1029 hhhh|1029hhhh [F09 | 4 [5(6) | @ [ @® | ® | ® | @ [PC.operand(2-Byte), Branch Relative |if V=1 then PC+hhhh—PC




